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Exercise 1 EXERCISE 02
Tick (v') the correct answer (3 pts) A(-a,0), B(0,0) M
1- Like charges: C(a,0), M(0,a) 2em
a- repel. [V a=2cm g = fé; .
b- attract each other.[] ;

2- Outer electrons in conductors are:
a- weakly bound to the nuclei.[] v

b- tightly bound to the nuclei.[]

3- Electric force is:

a_ F — k |q1rq2| I:l
b_ F=k lq:;hl D v
c-F = k|Q1-Q2| D

Jr
4-Gauss's theorem is :

a-0 = §S E d§ — Qenclosed I:l v
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b-@ = SﬁL Edz — Qenclosed D
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c-9=¢ E.d§=Q"SL:‘” L]
5- The electric field is zero:
a - inside the conductor. [] v/
b- outside a charged conductor.[]
c- just outside a charged conductor. []
6- Any net charge on an isolated conductor
reside:
a- on its surface.[] v
b- inside the conductor (volume distribution). []
c- on its center.[]
7- Charge Q on the capacitor depends:
a- on the applied difference of potential V. []
b- on geometry and size of capacitor.[]
c- material between plates.[]
d- all these factors. [] v/
8- When n capacitors are associated in
series, the equivalent capacitance is:
a- lower than the capacitance of each one of
the associated capacitors. [] v/
b- greater than the capacitance of each one of
the associated capacitors.[]

1- The electric field at the point M.
E(M) = Ex(M) + Eg(M) + Ec(M)
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E(M) = Ex(M) + Eg(M) + E¢ (M)
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E(D) = 3.84x10"7
E(M) = 3.84%x 10'N/C



EXERCISE 03
1- Determination of the electric field

From Gauss’s law:
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2- Determination of the potential

E= —gradV
Case 2: r>R
_oR*1 v, . _ oR*1
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Case 1:r <R
dV1 == —EldT:> dVl == —0 dr = 0
:>V1 = C1
we have: V,(R) = V{(R)
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